=0 lo—0 ‘o 0 oLlo» lodiop Exponenten von 10

Name: Datum: Ergebnis:
10° = 1x10° =
3x10= 10* =
10* = 10° =
5,3 % 10* = 3,79+ 10 =
1 x10* = 6x 10 =
4% 10 = 5,91+ 10° =
3x10= 10° =
10° = 6x 10 =
7% 10* = 10° =
8,62+ 10° = 7% 100 =
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=06 lo—o ‘o0 b0 lo: loo Exponenten von 10

Name: Datum: Ergebnis:
10° = 1000 1 x 10* = 1000
3 x 10 =30 10* = 10000
10 = 100 10°> = 100000
5,3 % 10* = 530 3,79 + 10 = 0.379
1 x 10* = 10000 6 x 10 = 60
4% 10 =40 5,91 = 10* = 0.0591
3% 10 =30 10°> = 100000
10° = 1000000 6 x 10 = 60
7 x 10* = 70000 10° = 1000000
8,62+ 10° =8.62F — 05 7x10°=7
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